Math 1040 Basic Mathematics Practice Problems 3 SOLUTIONS
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r—3<—4x — 33
r—34+3< —4r—-33+3
z < —4z — 30
T+ 4dx < —4dx + 4x — 30
5z < =30
or +5< =30+5
< —6

In interval format the answer is (co, —6] , and on a real line the answer is:

Y

(4) > —2iz=2z+0-22—4z— 62— 82— 10z = —282

B)S (-1 k=(=1)" x1+(=1)?x 2+ (=1)* x 3+ (=1)* x4+ (=1)° x5=—-142—-34+4—5=—3
::k:3

(7) D 2k% =2 x 3% +2x 4% +2x 5% +2 x6° =54+ 128 + 250 + 432 = 864

k=3
Hence z=864
—2
(8) Z —z =8, S0 —r—x =238, S0 —2r =38
i=—3
Hence z = —4



8
(9) Z yi = 120, S0 4y + 5y + 6y + Ty + 8y = 120, SO 30y = 120
i=4

Hence y =4
(10)
> —di=-52
i=z—1
—4(z—1)—4z=-52
—8z+44=-52
—8z = —56
Hence z =7
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—10z —5 < =52 — 35
—10z—-54+5<—-5x—-35+5
—10x < =52 — 30
—10x 4+ 5z < —5x + 5z — 30
-5z < =30
=52 =+ (—=5) > =30 + (-5)
z>6

In interval format the answer is (6,00) , and on a real line the answer is:

(4) ) iy =0+4y+8y =12y
=0
4 .

(5) D (-2)i= (-2 x 1+ (-2)* x 2+ (-2)° x 3+ (-2)" x4 =—2+8 24+ 64 =46
=1

Y



(6)

(10)

7
B+4+5+6+7=) j
j=3

Y =2+ ()00 =1+1+1=3
Hence z=3

0
Z 2y = 40, SO 2y + 2y + 2y + 2y + 2y = 40, o) 10y = 40
i=—4

Hence y =4
-2
d yi=-15, so -3y-2=-15 so —by=-15
i=—3
Hence y =3

x+2

221':12

20 +2(x+1)+2(x+2) =12

6r+6=12
6x =06
Hence x =1
—2..2 —2+42 0
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br—5>4r—6
br—5+5>4r—-6+5

S5r > 4x — 1
bx —4dx >4 —4x — 1
z>—1

In interval format the answer is [—1,00) , and on a real line the answer is:



IS

(4) Y —2kz = —6z — 8z = —14x

6
(5) D (-1 j=(-1)?x24 (-1 x3+ (1) x4+ (1)’ x5+ (-1)° x6=2-3+4-5+6=4

S

8
2 2 2 2
6) — — — — =
()5+6+7+8 ;

6

(7)Y 45 =4 x4%4+4x5°+4x6" =4+4+4=12
j=4
Hence z=12

(8) 222—20, S0 z4+z+z+ 2+ 2z=-20, SO 52 =—-20

i=—

Hence z = —4
1
(9) Z zi = —27, S0 —4z—-32—-22—2+40+2=-27, S0) —9z = —27
i=—a

Hence z = 3

(10)

y

> 4k =-20
k=y—1
—4(y—1)—4y=-20
—8y+4=-20
—8y = —24
Hence y =3
-5,—5 —5-5 -10
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S50 —3>6x+1
5r—3+3>6x+1+3
br > 6x+4
S5r —6x > 6x — 6 +4
—xr >4
—r+(=1) <4+ (-1)
< —4

In interval format the answer is (0o, —4] , and on a real line the answer is:

Y

(4) > ky=-5y—4dy—3y—2y—y+0+y+2y+3y+4y+ 5y + 6y = 6y
k=-5

(5) Y (1) j=(-1)" x 1+ (=1)" x 2+ (1)’ x 3+ (-1) x4 =-14+2-3+4 =2
(6) 1_15—18—21—24—27

—3x5—-3x6—-3x7—-3x8-3x%x9

(1) > 2% =2x(-2)° +2x (-1’ +2x 0 +2x 17 +2x 29 = -16 =2+ 0+2+ 16 = 0

i=—2
Hence z=0
1
(8) Z?;z:(), S0 3z+32+32+32+32 =0, SO 152 =0
i=—3

Hence z =0

2
(9) Zzi:—?), SO 0+ 2z+2z= -3, SO 3z=-3
1=0

Hence z = —1
(10)



(2)

Hence y =0

9z~ 4zl 9p~4tl  9p—3 - .
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1 1 3
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— By lyly~ 1O
— B3+3y~1+1-140

— By 1

dr < —2x+ 24
dor +2x < -2+ 2x + 24
6x < 24
6r+6<24+6
r<4

In interval format the answer is (00, 4) , and on a real line the answer is:

Z 3kz = —152 — 122 — 92 — 62 — 32 = —45z
k=-5

2
D=1 i=(-1) x1+(-1)*x2=-1+2=1

1
D2t =2x (1) +2x0' +2x1'=-24+04+2=0
1=—1

Hence y=0

2
D 4z=72,  so  dz+dz+dzt4r+4z+42=72, so  24z=T2

i=—3

Hence z =3

2

Zzi:& SO z+ 2z =6, SO 32=206
i=1

Hence z =2



y+1

> 2k=18

k=y—1
2(y—1)+2y+2(y+1)=18

6y = 18

Hence y =3



